
Homework on Trigonometric integrals - Set 1

ü 1.  

‡ sin3 HxL cos5 HxL ‚ x
sin8 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
8

-
sin6 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
3

+
sin4 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
4

OR
cos8 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
8

-
cos6 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
6

ü 2.

‡ sin4 HxL cos3 HxL ‚ x
Out[18]=

sin5 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ5 -

sin7 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ7

ü 3.

‡ sin2 HxL cos2 HxL ‚ x
Out[19]=

x
ÅÅÅÅÅ8 -

1
ÅÅÅÅÅÅÅÅÅ32 sinH4 xL

ü 4.

‡ cos3 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄè!!!!!!!!!!!!!
sinHxL  ‚ x

Out[22]= 2 sin
1ÅÅÅÅÅ2 HxL- 2

ÅÅÅÅÅ5 sin
5ÅÅÅÅÅ2 HxL

ü 5.

‡ sec6 HxL tan2 HxL ‚x
Out[24]=

tan7 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ7 +

2 tan5 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ5 +

tan3 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ3

ü 6

‡ tan4 HxL ‚ x Or Hafternoon classL ‡ tan6 HxL ‚ x
tan3 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
3

- tanHxL + x OR Hafternoon classL
tan5 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
5

-
tan3 HxL
ÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄÄ
3

+ tanHxL - x
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ü 7

‡ sec7 HxL tan5 HxL ‚x
Out[29]=

sec11 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ11 -

2 sec9 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ9 +

sec7 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ7

ü 8

‡ sec3 HxL ‚x
1
ÄÄÄÄÄ
2
Hln » secHxL + tanHxL » +secHxL tanHxLL

ü 9

‡ sec6 HxL ‚x
Out[45]=

tan5 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ5 +

2 tan3 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ3 + tanHxL

ü 10

‡ tan2 HxL cos3 HxL ‚x
Out[48]=

sin3 HxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ3
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